

## **PROPERTY DETAILS REPORT**

St. Louis County, Minnesota



Date of Report: 4/28/2025 7:10:51 PM

			General De	etails					
Parcel ID:	510-0011-01	307							
		Le	gal Description	on Details					
Plat Name:	PORTAGE								
Se	ction	Township	vnship R			Lot	Block		
	9	65		17		-	-		
Description:	THAT PAR	F OF NE 1/4 OF	NE 1/4 LYING W		200 FT				
T N	DEDMOND		Taxpayer D	etails					
Taxpayer Nam and Address:	e REDMOND 7733 RIISE								
anu Auuress.	ORR MN 55	-							
		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,							
			Owner De	tails					
Owner Name	REDMOND	PETER D							
		Pay	able 2025 Tax	c Summary					
	2025 - N	let Tax			\$1,90	03.00			
2025 -		pecial Assessm	al Assessments \$85.00						
		Total Tax &	Special Asse						
	2023 -		-						
		Currer	nt Tax Due (as	s of 4/27/202	5)				
Due May 15			Due October 15			Total Due			
2025 - 1st Ha	alf Tax \$994.0	2025 - 2	2025 - 2nd Half Tax \$994.00			2025 - 1st Half Tax Due \$994.00			
2025 - 1st Half Tax Paid \$0		2025 - 2	2025 - 2nd Half Tax Paid		\$0.00 202	25 - 2nd Half Tax Due	\$994.00		
		_							
2025 - 1st Ha	alf Due \$994.0	2025 - 2	2025 - 2nd Half Due \$994.00		94.00 202	25 - Total Due	\$1,988.00		
			Parcel Det	tails					
Property Addr		RD, ORR MN							
School Distric									
Tax Increment									
Property/Home	esteader: REDMOND,		ent Details (20	25 Payable (	2026)				
Class Code	Homestead	Land	Bldg	Total	Def Lan	d Def Bldg	Net Tax		
(Legend)	Status	EMV	EMV	EMV	EMV	EMV	Capacity		
201	1 - Owner Homestead (100.00% total)	\$43,100	\$203,600	\$246,700	\$0	\$0	-		
111	0 - Non Homestead	\$20,100	\$0	\$20,100	\$0	\$0			
	Total:		\$203,600	\$266,800	\$0	\$0	2425		
		<b>,</b> ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	+	+===;===					



## PROPERTY DETAILS REPORT

St. Louis County, Minnesota



L and Datails											
Land Details											
	ded Acres:	26.00									
	erfront:	-									
	er Front Feet:	0.00									
	er Code & Desc:	W - DRILLED WELL									
	Code & Desc:	-									
	er Code & Desc:	S - ON-SITE SANIT	ARY SYSTE	M							
	Width:	0.00									
	Depth:	0.00									
The https	dimensions shown are no :://apps.stlouiscountymn.g	t guaranteed to be surv jov/webPlatsIframe/frmf	ey quality. A PlatStatPopt	dditional lot Jp.aspx. If t	information can be here are any quest	e found at ions, please email Propert	yTax@stlouiscountymn.gov.				
	Improvement 1 Details (32X40 RES)										
I	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	HOUSE	1975	1,15	2	1,256	-	1S - 1 STORY				
	Segment	Story	Width	Length	Area	Found	lation				
	BAS	0	7	8	56	FOUND	ATION				
	BAS	1	7	40	280	FOUND	ATION				
	BAS	1	10	40	400	FOUND	ATION				
	BAS	1.2	13	32	416	FOUND	ATION				
	DK	0	6	8	48	POST ON	GROUND				
	OP	0	6	8	48	FOUND	ATION				
	Bath Count	Bath Count Bedroom Count Room Count Fireplace Count		Fireplace Count	HVAC						
1.0 BATH 3 BEDROOMS		-			0	STOVE/SPCE, WOOD					
Improvement 2 Details (8X8 GRNHSE)											
1	mprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	TORAGE BUILDING	0	64		64	-	-				
	Segment	Story	ry Width		Area	Found	lation				
	BAS 1		8 8 64		POST ON GROUND						
Improvement 3 Details (WD BURNER)											
Improvement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish Style Code & Desc.											
S	TORAGE BUILDING	0	160	)	160	-	-				
Segment		Story	Width	Length	Area	Found	lation				
	BAS	0	10	16	160	FLOATIN	IG SLAB				
	LT	0	16	16	256	SHALLOW FO	OUNDATION				
Improvement 4 Details (10X10 STG)											
1	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	TORAGE BUILDING	0	100	)	100	-	-				
	Segment	Story	Width	Length	Area	Found	lation				
	BAS	0	10 10		100	POST ON	GROUND				
			Improver	nent 5 De	etails (6X8 STC	G)					
Improvement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish Style Code & Desc.											
1	TORAGE BUILDING	0	48		48	-	-				
	Segment	Story	Width	Length	Area	Found	lation				
	BAS	0	6	8	48	POST ON					
1 1	-			-	-						



## **PROPERTY DETAILS REPORT**





Date of Report: 4/28/2025 7:10:51 PM

		Improve	ment 6 D	etails (7X7 STG)				
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des		
STORAGE BUILDING	AGE BUILDING 0 49		49		-	-		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	BAS 0 7 7 49		49	POST ON GROUND				
		Improveme	nt 7 Deta	ils (LARGE STO	DR)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des		
STORAGE BUILDING	0	48	4	484	-	-		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	22	22	484	POST ON GF	ROUND		
		Improveme	ent 8 Deta	ails (@LOG STC	DR)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Basement Finish	Style Code & Des		
	0	72	0	720	-	PLN - PLAIN SLA		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	0	24	30	720	-			
		Improvem	ent 9 Det	ails (20X20 SLA	В)			
Improvement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des		
	0	40	400 400		-	PLN - PLAIN SLA		
Segment	Story	Width Lengt		Area	Foundat	ion		
BAS	0	20	20	400	-			
		Improveme	nt 10 Det	ails (FOR CARV	/IN)			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des		
STORAGE BUILDING	0	63	3	63	-	_		
Segment Stor		Width Leng		Area	Foundat	ion		
BAS	1	7 9		63	POST ON GF	ROUND		
		Improveme	ent 11 Det	tails (OLD STOF	RE)			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	, Basement Finish	Style Code & Des		
STORAGE BUILDING	0	75	0	750	-	-		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	25	30	750	POST ON GF	ROUND		
OPX	1	10	25	250	POST ON GF	ROUND		
	I	mprovemer	nt 12 Deta	ails (OLD TOWN	HL)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des		
TOWN HALL	0	1,65	56	3,312	-	-		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	2	36	46	1,656	FOUNDAT	ION		
DK	1	4	34	136	POST ON GF	ROUND		
DK	1	6	32	192	POST ON GF	ROUND		
DK	2	4	12	48	POST ON GF	ROUND		
DK	2	4	44	176	POST ON GROUND			
OP	1	6	12	72	CANTILE	/ER		
		Improveme	ent 13 De	tails (OLD CAB	N)			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des		



St. Louis County, Minnesota



Segmen	t Story	/ Width	Length	Area	Foundatio	on		
BAS	1	6	8	48	POST ON GR	OUND		
BAS		14	16	224	POST ON GR	OUND		
DKX 1		8	8	64	POST ON GROUND			
	;	Sales Reported	I to the St. Loui	s County Auditor				
No Sales informati	ion reported.							
		A	ssessment His	tory				
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bidg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
	201	\$43,100	\$194,300	\$237,400	\$0	\$0	-	
2024 Payable 2025	111	\$18,400	\$0	\$18,400	\$0	\$0	-	
	Total	\$61,500	\$194,300	\$255,800	\$0	\$0	2,306.00	
	201	\$41,700	\$201,600	\$243,300	\$0	\$0	-	
2023 Payable 2024	111	\$17,500	\$0	\$17,500	\$0	\$0	-	
	Total	\$59,200	\$201,600	\$260,800	\$0	\$0	2,455.00	
	201	\$34,800	\$97,600	\$132,400	\$0	\$0	-	
	207	\$3,800	\$207,400	\$211,200	\$0	\$0	-	
2022 Payable 2023	111	\$15,600	\$0	\$15,600	\$0	\$0	-	
	Total	\$54,200	\$305,000	\$359,200	\$0	\$0	3,867.00	
	201	\$27,500	\$84,300	\$111,800	\$0	\$0	-	
	207	\$2,500	\$179,300	\$181,800	\$0	\$0	-	
2021 Payable 2022	111	\$10,400	\$0	\$10,400	\$0	\$0	-	
	Total	\$40,400	\$263,600	\$304,000	\$0	\$0	3,223.00	
		-	Tax Detail Histo	ory				
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Buildi MV		al Taxable M\	
2024	\$2,367.00	\$85.00	\$2,452.00	\$56,570	\$188,887 \$245,		\$245,457	
2023	\$4,035.00	\$85.00	\$4,120.00	\$47,544	\$286,332		\$333,876	
2022	\$3,717.00	\$85.00	\$3,802.00	\$33,715	\$243,107 \$2		\$276,822	

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.